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Answer the following Questions:

n Choose one question of (A) or (B) and
replace sentence with suitable scientific
term:

a- zoneinthe upper mantle consists of partially
molten and elastic rocks that allow spread
of convection currents.

b- Crushed angular clasts associating faulting.

P AGY) A e c

8 () 31 (1) (ol dni 351 )

1ole JIA elal) milaael! ast

oo 055 glagt Reds Gy -
B k] ca.u& dadle D jeo
cJed I Slatgs

O dodgald! Hemall (o OLB O

. 1galt Lo liad ol 219>

ﬂChoose one question of (A) or (B) and
choose the correct answer:
a- Dolomite which found in Earth’s crust is

@ silicates

@ sulphates
(©  carbonates

@ oxides

b- The main criterion in definition of mineral
that it 1s

metal
non-metal

liquid substance

®O0eE

crystallized substance

[\

1@ (@) 9F (1) ol 13uadt s § y25n0 - ¥
+ Aovoual | Al W s

Zj.w!gba”}eﬂﬁ*oyj.\ﬂ&ia—i

el @

98 Oonalf ca paild ol Gad -0
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nChoose one question of (A) or (B) and | :dadecaiy(0) i (1) odlpadt dai sl ¥
explain: N1

a- Sea level has a great importance. 15 S el g3 ol el (5 g |
b- The faults differ from joints inspite of they oo 58 s (il e 3101 Calins -
are fractures in the earth’s crust.

o 315 a1 8 ) guS Lagh S

nWhat would happen? e Codomy 130e - £
If wheat is planted in October and P58V (5 el B edl! OO dely)
November? aB gl g
ﬂ Justify: 1ol Lt Jle -0
Streak is a reliable property for mineral | iwols e 5,08 )y slaie ¥
identification. RST POX (PP JOL 1 (- - NESN {
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n Mention the similarities and differences 1S3 -1
¢
between: 1000 JS (it DL Y g Al | dm g
Longitudinal dunes and coastal dunes. ko Lt SLEST 1 39 5
4
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n Study the given figure then answer the | e coi@d YL JSEI (uyal -V

following questions: : AT LN Al
X % “’\aﬂzk
O,//\ Y. A /Li%i ®
2’/\ \ﬁ_/m iR:fﬁj\‘mf" /?/L’V*‘ Hﬂ

a- Write the labels (1) & (4) ‘ (8 (1) Sblad) Las) i

b- Mention the type of tectonic plate | acgsid) aS,=81 ¢98 pog-u

movement in the figure. LIS Al |
c- Give an example for the structure no (3) (%) S5 Yl S| z
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ﬂ Mention the ways of adaptation of the
following organisms:
a- Deep-water organisms.
b- Fennec fox.

+ AL QLSS
.3lee ¥ Ol g

LAY (s o

n What is meant by:
Organized grazing.

‘da.«.d‘gcjdb.sjmw‘\.ﬁ -9

m Choose one question of (A) or (B),
Replace sentence with a suitable
scientific term:

a- Adding water to the mineral composition
that cause chemical weathering.

b- Spits at the bays area and it may close
them to form a semiclosed marine area in
the form of a lake.

red () 9F (1) (o 3uadf s it =\
1 oAe J1AT elal | allaael ! LS|
et coS 5 sl Al -
LLeasS dgan e Jany Las
PO LYt PR PN [RE0 I TP {
B s IS e (Blae A Ll
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m What is the age estimate of rocks contain | gs=3 1 ygall yee Le- VN

a fossil of an oldest bird? il AUBY 4y yas
m Choose the correct answer: syt -\ Y
All these crystals have perpendicular axes |zaslaie Lajglme Ofygld! sl JS
except the crystal of the ......... system | ... Alla’ 3590 fua Lo Lifg 330
@ Tetragonal RPN PRL { @
@ Orthorhombic L(@SLAN et @
(©  Cubic RN S
(@  Triclinic RIRIPETIRN €)
m What would happen when? sie Sy 130e -\ ¥
Mica subjects to breaking or pressure. daiiall ol puSUY ISal) ine (1 pal
A Justify: il Lt e -1 ¢
Rhyolite differs from granite in spite of their | e cuoi ot (e cud gl 51 Catisn
similarity in mineral composition. Ll f LagS 5 dalis

v/ U.JLIJI JoaJl - d=salpoldalinl) A A auj



YA/ gty plad— L1 gt

E “Marine fish live at 120 m depth”.
Based on this information, answer the
following questions:

a- Calculate the pressure which the fish
exposed to.

b- What are the producers that could be found
with it at his depth?

(Al Y1 2l0Ly) At pghatly L f gund | - Al 2y i s )t L Bl el

Gee Glo il Ao ASewn -1 0
sy VY
LAY ALY (e cnl 5 ylealt 008 ¢ 9ud (2
A e | A (2 pai (50 dakial | o |
O (S A1 Atk | SLSISH Lo~
SEeal! 108 B Lgno w193

m Choose one questions of (A) or (B) and
compare between:
a- Renewable resources, and non-renewable
resources in terms of definition & examples.
b- Grazing in area of weeds and grazing in
area of shrubs and trees. In terms of its
effect on environment.

1(@) 91 (1) ot uadt | i -4 %

1o (LB

Bacoviall 1l 3yl gadlgBacial 3yl gedl -

Lagio JSI Jlin g pggaad! Coon (0

el lgulie ¥ Gblioe 3 e M —u
Sy Sl pendd! 3ol 2
et e ol o (e
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m Mention the environmental factors that 1583 -\V
supported the flourishing of the plant | jlaayl 31 sl i3t ddedt g tat
cover during Carboniferous period. What | . 5,531 jaalf ;3 Siladi sliaalf
are the resulted economic deposits that | ia il wslad ¥ g3l Loy

resulted under these conditions? Selts e
ﬁ What is the importance of: s dcedi Lo -\ A
Water moving upward (upward currents) $uclall Led| Ol Lol

mChoose one question of (A) or (B), | (o) ol (1) (et sudt di yisnt =14

Replace the statement with suitable 1@

scientific term: 1ole JI elal) milkaaell LIS

a- Geologic time at which continents achieved | 4@ G Gusl o> g8 gn (r0) -
their present positions. AT Lge L g

b- Tectonic movement responsible for the | \ge Lo oI A S 3
formation of transform faults. S gt

9
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m Choose one question of (A) or (B) : 1@ (@) 9 (1) o daudt A 230 =Y o
Choose the correct answer : 1 Avouall Ayl ¥ s
a- Sedimentary succession of paralled layers | (e 3oz grsu) gl o8 S g 13) -
divided into two parts by an erosional | Leglass (plojlgie Hgomall (yo
surface. Thisiscalled ... (ot S S 1B Ty al e
(@)  disconformity. e llazil (33193 pue @
@ normal fault. (gale @18 @
@ anticlinal fold. e Ao @
@ angular unconformity. (5915 (33193 puc @
b- Convection currents are abundantin........ | ........ B Jemd I Slalga il
@ inner core. WEN NS [N { @
@ upper part of the mantle. lagh e s alatt s ot @
@ outer core. PP EN (pi] @
@ Earth’s crust. A N1 5yt @

m Choose one question of (A) or (B) and | (<) ) (1) (st i piisn) =Y
define it: YN

a- Zooplankton. . A0 gt | Sladilgd! -

b- Biosphere. (S gumdl ASAY

10
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mWhat would happen when? s e Gt 130 - Y Y
Coral reefs grow near the shores. ol ol 9 8 Al padf Lladd | gl
m Explain: ! s =YY

Seawater keeps its characteristics unchanged ol diliay Wadiios yomadf slo St
in spite of the organic wastes exerted by lem pid | Zguaall GSLAAT

marine organisms. .
g B iad ot LIS

11
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m Study the given figure then answer the ' Lo i @3 I IS (sl -V £

following questions: an
[L:I !
a- What is the name of this feature? 935S 1040 e Lo
b- In which stage is it formed? | Sadealfoia ()9S Al yo 510 -0

c- What is the shape of river sector in that | ,¢!glkad oaaly st it Lo ¢
stage? , LFIESOR [PV -

d- Mention one reason of river rejuvenation? ) b Gl usl ,S50 -

12

CV/ 017 il gl - = alpol) Elin) &5 wnj



Yolv/Ye ‘N_,m,.m?ut_‘k_,smu,.m

(Bl ¥ 8L | pglall L o guand - ol gl ot p LS Bl Gl

EWhat is the importance of ........ ? z(,of)s Aiadi ,S3I-Yo
a- biogas. Sl gt
b- Feldspar. et
ﬂCompare between: TR I L
Luster Play of color
G213 O o e
Definition |~ e
T S
Example |
X% g [ N T ) WSS e S,y

13
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m (Rhyolite — laminated mud) Two ' ((al! (mdalt - Cedgal 1) =YY
different rocks: mention: | s Hlaliine Ol oo

a- properties of Rhyolite. | DO PARTSCEPRCTPIASIN [P

b- How does the laminated mud (shale) form? ' $ mitsal| (pulad) s (3955 S o

m Choose one question of (A) or (B) and | :e2 () of (1) (ndfaudt doi sisnf - YA
replace the sentence with suitable 1 oAe J1AT1 elal | pllacael! S
scientific term: S OB guomdl (ya e gamms o ol Jid -

a- Killing or hunting a group of animals to the
limit they become few and become unable
to reproduce.

b- Energy-producing natural matter formed )
in Earth million years ago, and what used | 02> 2 02¥1 kb &
from it cannot be compensated. 23 ¥ Lgte g Lo (yiad

!:\:.M LAM.\.:?A.:AM@L\J!M!
ISy el (Ao 55018 fl g
S0 9SS Jlaia M ALL8 dacds 33l -0

14
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mStudy the figure and answer the | e coiEd YL JSEN Guyst -Y4
questions: j s AGY Al

a- Write the names of the structures (1) & (2) ‘ Ot i ol S|
() (V) e S 9!

b- What is the type of unconformity? why? | sl | rud 3219 auic g 53 Lo -0

mWrite the name of mineral based on the | Js le J14t Hdaelt mew! CGSI =¥

mentioned property. ey (e B\ PP (VY- S WP
a- Salty taste. , b Blie &Y (ane
b- Good basal cleavage. b gueld pladit db Huas -0

15
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m Justify: 1Ak Let e -1
Accumulation of economic phosphate deposits | a,sLaid ¥ clawsal! cuuls) @S1,3
in Egypt during the upper Cretaceous time. (S 3tall 6 LAl yumall o3

m What are the results of: 1ol AG ylell AL Lo Y'Y

Presen.ce of tension force between tWO | . .\ :giss s sd (o i $58 3529
tectonic plates.

m Choose The correct answer: s Asuual) Al N1 5l -V
Among geological effect of ground water: o>l gumd) Jadll yaltie eal e
........ O2953 An ¥ oliald
@ Water falls. oleatl dadlice @
@ Oxbow lakes. P PPPY-: (PR PP { @
@ Stalactite, stalagmites .aelgually daslggl! @
@ scratches. A y3vall o gasat @
16
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m Choose a question of (A) or (B) and
mention the similarities and differences
between:

a- Pumice & obsidian.
b- Breccias & conglomerate.

1 (@) 91 (1) 1 guadf s p25n W€
1y ALY A 91 9 ALE | Ao 9 LS
Ol ¥ 19 (e gl | |

A e gl 98I g by »d 1

EExplain briefly: 1 slaise by g ol Y0
The destructive action of rain. Uaa ecgl Jeall
17
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m “The temperature of lakes surface water | ol 2 5yt 2385 Calisey - ¥1
changes according to the season” (o g3 | MLy Oy
discuss this sentence. | ;,Lat sia 2130

m Choose one question of (A) or (B) and | : (<) of (1) ot 3udt d§ pnf =YV

mention what would happen: re Gty 130e

a- Bending layers with younger ones in the | cusw Sladall 3 L) & gus |
center. S pedl o2 Lgiaa (39S

b- Rocks affected by two normal faults | (resle  (udtlas  jssualt 8k o
sharing the same foot wall. RIEI [N PN (RYERE WOT RO

E Write the number which expresses each | :» IS ole Jiat @311 CGS) -YA

of the following: Gogbattalla ¥l jol > s s o
a- Number of axes in hexagonal crystal RRIRY
system. )

‘:,3)':-..” U:'M‘Cj" 8%

b- The hardness of streak plate.

18
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mStudy the given figure and answer the questions:

a- What is the name of this igneous texture?
b- What is the type of rocks that is
characterized by this texture and color tone?

ol @i YL JSEY) (uyal Y4

o S pall ewidl s gl Lo -
SZ\:\JL'J‘JM‘:\JL:-
1ags ez g1 Hgall g 95 Lo -1

RV PR

Lo ¥ 2200) Aded ! a glatly Lis 1~ alalt A gl Aty aLaif Balgss ¢yl
e 1) ddcd ! pglally Lx o8 91> g 00 plas]

mCOmpare between:

The primary and secondary seismic waves in
terms of speed and propagation medium.

1O (L8 -8

AP (P WENNUR U (IR
A L A T A 531 Sl gt
DLW g A pud| G o
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m Justify: sdle - ¢ )
Formation of spheroidal shells on the surface | plaw Ao JSatt 49,8 jaad (ssI

of granite. ORI |
m Choose the correct answer: s Asvouall Al ¥ 5l - £ Y
The highest energy level of food isin ........ | ..... o £10al 2Bl (g ge el g9
(@ Fish sttt (D)
@ Crustaceans. Ol paat @
@ Phytoplankton. AGLAY Olalilgt ! @
@ Protozoa. AG g OL o @

20
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m Choose one question of (A) or (B) and
mention:
a- The reasons of overhunting animals.
b- The bad effects of urban spreading, and
how to face it.

1o Los Jad S 1 g (oo e - £

Pl acat ol S50
S poedlg A ) Dl g

PG UL PRI { [P+ { O 5
U A 90 JSlugg o3 peall

mReplace the following statement with
suitable scientific term:
Period in which the activity of the night
animals is reduced.

zgdd‘@“a.m.d‘u.CS| -¢¢
Ol gt dolciy Lgd S50 5 508
LA
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m Study the figure (soil profile) then answer | ¢liad, psgs Jslaatt JS ity -£0
the questions: Ay (B il

Write what do the numbers (1) & (2) refer t0 | (v) (V) Lol 1 4l i Lo S

and Describe them. gl e S s

22
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